

			Т	abulation of B	ids			Page 1 of 6
Contract ID: 23450				Counties:	IDEN, CAPE I , SALEM	MAY,		
Lettir	ng Date: Januar	y 24, 2023		District(s):	S4			
Cal	l Order: 450			Project(s):	N/A			
Contrac	ct Time: 12/31/2	4 COMPLETION DA	ATE	Min:	Max:			
Contra	ct Description:	Maintenance Paver	ment Markings C	ontract, South -	2023			
Line No / Item ID Item Description			(1) ZONE ST	RIPING, INC.	(2) TRAFFIC LINES, INC.			
Alt Set / /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	6,968.77000	6,968.77	10,000.00000	10,000.00		
PERFORM/ PAYMENT	ANCE BOND AND BOND	DOLL						
0002	152015P	1.000	9,500.00000	9,500.00	20,000.00000	20,000.00		
POLLUTION	N LIABILITY INSUF	RANCE DOLL						
0003	MMR004M	13.000	3,000.00000	39,000.00	3,000.00000	39,000.00		
MOBILIZAT	ION	U						
0004	MMR005M	4.000	1,500.00000	6,000.00	1,500.00000	6,000.00		
SPECIAL M	IOBILIZATION	U						
0005	MMR006M	1.000	4,000.00000	4,000.00	4,000.00000	4,000.00		
EMERGEN	CY MOBILIZATION	1 U						
0006	MMG018M	2,500.000	1.00000	2,500.00	1.00000	2,500.00		
FIELD OFF	ICE EQUIPMENT	DOLL						



			т	abulation of B	ids			Page 2 of 6
Contract ID: 23450				Counties:	MDEN, CAPE	MAY,		
Let	tting Date: Janu	uary 24, 2023		District(s):	S4			
C	Call Order: 450			Project(s):	N/A			
Cont	ract Time: 12/3	1/24 COMPLETION D	ATE	Min:	Max:			
Cont	ract Descriptio	n: Maintenance Pave	ment Markings C	ontract, South -	2023			
	o / Item ID		(1) ZONE STI	RIPING, INC.	(2) TRAFFIC	LINES, INC.		
	escription t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway	Cat A		It Set: Cat A		Alt Member:	
0007	158072M	1.000	1,000.00000	1,000.00	2,000.00000	2,000.00		
OIL ONL TYPE 1	Y EMERGENCY S	SPILL KIT, U						
0008	109006M	10,000.000	1.00000	10,000.00	1.00000	10,000.00		
FORCE	ACCOUNT	DOLL						
0009	MMR080M	23,700.000	0.20000	4,740.00	0.55000	13,035.00		
CLEARIN	NG SITE	LF						
0010	610003M	80,000.000	1.00000	80,000.00	1.65000	132,000.00		
	STRIPES, 4" (CA IAN 50,000 L.F.)	LLOUTS LF						
0011	610006M	10,000.000	2.00000	20,000.00	2.20000	22,000.00		
	STRIPES, 6" (CA IAN 50,000 L.F.)	LLOUTS LF						



			т	abulation of B	ids			Page 3 of 6
Contract ID: 23450				Counties: ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY CUMBERLAND, GLOUCESTER, SALEM				
Letting	Date: January 24,	2023		District(s):	S4			
Call O	Drder: 450			Project(s):	N/A			
Contract	Time: 12/31/24 CC	MPLETION DA	ATE	Min:	Max:			
Contract	Description: Mai	ntenance Pave	ment Markings C	ontract, South -	2023			
Line No / Ite Item Descrij			(1) ZONE ST	RIPING, INC.	(2) TRAFFIC	LINES, INC.		
Alt Set / Alt	•	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway	Cat A		It Set: Cat /		Alt Member:	
0012 610	0007M	7,500.000	3.00000	22,500.00	3.30000	24,750.00		
TRAFFIC STR LESS THAN 50	IPES, 8" (CALLOUTS 0,000 L.F.)	E LF						
0013 610	0003M	10,000.000	1.00000	10,000.00	1.40000	14,000.00		
	IPES, 4" (CALLOUTS . AND GREATER)	5 LF						
0014 610	0006M	5,000.000	2.00000	10,000.00	1.90000	9,500.00		
	IPES, 6" (CALLOUTS . AND GREATER)	5 LF						
0015 610	0007M	10,000.000	3.00000	30,000.00	2.40000	24,000.00		
	IPES, 8" (CALLOUTS AND GREATER)	5 LF						
0016 610	0060M	7,000.000	20.00000	140,000.00	22.00000	154,000.00		
TRAFFIC MAR	RKINGS SYMBOLS	SF						



Tabulation of Bids Page 4 descent								
Contract ID: 23450			Counties:	ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY, CUMBERLAND, GLOUCESTER, SALEM				
Letting Date: Janua	ary 24, 2023		District(s):	S4				
Call Order: 450			Project(s):	N/A				
Contract Time: 12/31	1/24 COMPLETION DA	TE	Min:	Max:				
Contract Description	: Maintenance Paver	nent Markings C	ontract, South -	2023				
Line No / Item ID Item Description		(1) ZONE STRIPING, INC.		(2) TRAFFIC LINES, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 Roadway			Cat Al	t Set: Cat A		It Member:		
0017 610013M	2,000.000	1.00000	2,000.00	3.30000	6,600.00			
TRAFFIC MARKING LINES,	, 4" LF							
0018 610014M	15,000.000	5.00000	75,000.00	6.60000	99,000.00			
TRAFFIC MARKING LINES,	, 8" LF							
0019 610016M	3,000.000	6.00000	18,000.00	8.25000	24,750.00			
TRAFFIC MARKING LINES,	.12" LF							
0020 610017M	7,500.000	15.00000	112,500.00	16.50000	123,750.00			
TRAFFIC MARKING LINES,	. 24" LF							
0021 610012M	25.000	90.00000	2,250.00	66.00000	1,650.00			
RPM, MONO-DIRECTIONAL	L, WHITE U							



			Т	abulation of B	ids			Page 5 of 6
Contract ID: 23450				Counties:	IDEN, CAPE I 2, SALEM	MAY,		
Lett	t ing Date: Janua	ry 24, 2023		District(s):	S4			
C	all Order: 450			Project(s):	N/A			
Contr	act Time: 12/31/	24 COMPLETION DA	ATE	Min:	Max:			
Contr	act Description:	Maintenance Paver	ment Markings C	ontract, South -	2023			
Line No / Item ID Item Description			(1) ZONE STRIPING, INC.		(2) TRAFFIC LINES, INC.			
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0022	610018M	25.000	90.0000	2,250.00	66.00000	1,650.00		
RPM, MO AMBER L	NO-DIRECTIONAL, ENS	U						
0023	610021M	25.000	90.00000	2,250.00	66.00000	1,650.00		
RPM, BI-D LENS	DIRECTIONAL, AME	BER U						
0024	610024M	150.000	1.00000	150.00	33.00000	4,950.00		
REMOVA	L OF RPM	U						
0025	610027M	250.000	17.50000	4,375.00	27.50000	6,875.00		
REMOVA RPM LEN	L AND REPLACEM IS	ENT OF U						
0026	610030M	50.000	90.00000	4,500.00	110.00000	5,500.00		
FLEXIBLE MOUNTE	E DELINEATOR, GR D	ROUND U						



Tabulation of BidsPage 6 of 6									
Contract ID: 23450			Counties: ATLANTIC, BURLINGTON, CAMDEN, CA CUMBERLAND, GLOUCESTER, SALEM				ИАҮ,		
Letting Date: Janua	ıry 24, 2023		District(s): S4						
Call Order: 450			Project(s):	N/A					
Contract Time: 12/31/	24 COMPLETION DA	TE	Min:	Max:					
Contract Description:	Maintenance Paven	nent Markings Co	ontract, South -	2023					
Line No / Item ID Item Description		(1) ZONE STRIPING, INC.		(2) TRAFFIC LINES, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001	Roadway		Cat Al	It Set: Cat A		It Member:			
0027 610036M	15,000.000	1.00000	15,000.00	2.20000	33,000.00				
REMOVAL OF TRAFFIC STR	RIPES LF								
0028 610039M	4,970.000	5.00000	24,850.00	6.60000	32,802.00				
REMOVAL OF TRAFFIC MA	RKINGS SF								
Section Totals:			\$659,333.77		\$828,962.00				
Co	ntract Totals		\$659,333.77		\$828,962.00				
Cost	Plus Time Totals		\$659,333.77		\$828,962.00				
() indicates item is bid	as Lump Sum			1	I				

(And a state	STATE OF NEW JERSEY
	STATE OF NEW JERSEY DEPARTMENT OF TRANSPORTATION Phil Murphy, Governor Sheila Oliver, Lieutenant Governor
	Phil Murphy, Governor Sheila Oliver, Lieutenant Governor

	Vendor Ranking						
Call Order:	450	Contract ID:	23450	Counties:	ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY, CUMBERLAND, GLOUCESTER, SALEM		
Letting Date:	January 24, 2023 10:00 AM	District(s): S4					
		Contract Time:	12/31/24 COMPLETION DATE				
Contract Description: Maintenance Pavement Markings Contract, South - 2023 Project(s): N/A							
Rank	Vendor Name			Total B	Percent Of Bid Low Bid		

 1
 ZONE STRIPING, INC.
 \$659,333.77
 100.00%

 2
 TRAFFIC LINES, INC.
 \$828,962.00
 125.73%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.